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(3.5 viii). R
(A"'B)"’CI A'\'(B‘l’() — (‘2_ 3 ]4. [2 _y 5}

SI Y 2+~ 5

& —

(A +B)+C = A+ (B+C) e

L-H-S = (A*B)"'C = [14'7- 34 (-9 145}
V+ b =1 2 045

([‘ S I -t o o
T 3 \}""[‘L -2 1})-{-[0 =2 3]
1 1 o 30y 2 Il 2 I 2 - Yy
= [‘4 3-4 g]
5

™ 24C) 2+1]) 1 o o
2+2 3+ (-1) (+2]|+ {VO L 3
14‘5 "1“"1 o _‘.3 { 0 1

o “g(/
24 () (+ Y+ O} ffk@<§\ A+(g_ ) (A c)+8
| A\\C?@ So|// A+(B-C)= (A-C)+8B

|
|
[l_l ‘ q] \@@@ L‘HS A+(3"') L
[ 3 653

2— 3 "["‘) _.(-O |—°
> ']4' [7—' o -1-(}) 2-3

3 {+(1) A+° | +o _
‘ ]*{ 240 -2+ 243 -
o 3+] {+1 3+ 2




Il
| S |
‘N-
'
-_ o s

> L

[
— 2
I

L 3
T+4Y -1

-2 =1

_,_H

|

1

—"

(
2 -2 2
3 3

| -l !
2 -+ L
3 1 3

1

@#S(x)
> A+28=2(A+8)

S“J’ 2A+28 = 20"‘9)

R
éﬁ\)v“ .
- <
% 2 c] — @
8 o ‘

HE

‘% g] —®

From <3 2D 4L
L-HS = R.H.S

2A+1LR = 2(A+8) Hewce F
e



3#8 /f' A::ZZ '2] ,3:[2

tHen ver:'fJ Hat

0> (A+8) = At g
Seh  (a+8)'= A%+ 6"

L.H.S =(A+8)t ¢

(R
([ )

——

—
-
-

. [o I]
- [:’. 3] Tl
2 I
_/@3\\""] — 0
2 s N o
= ; ] —> 0 /\/g’it\\é) -
| ¢ t <mé$\) Q/_ ) Af Bt
RHS:- A + B . /\i@@y RH =£ - .
£ 1) \fﬁ\:}\/ov - (' : - | l]
N SR
) ' ) | o _ ' L
:[‘; ']+’ o] '::[2 I] [' 0]
|+ "“’] = \?-I o-l)
=[2+l | 40 -t 170
o 2
2] —o T s
~ /
Fyom eﬁy#@ X @ FT eﬁ/#o Cf@
L.HS = RHS
L.HS = RHS + <+ ¢
L -8) = AT
(A+B) = At-c-Bé (A8 Af.o_gwj
Hone postdl . /] -

' o, ] ) a 48 (1), \/erifz fhal
¢

t
(A..-B) = At"" 8
! t
s !' (A‘-B)b: Af"‘ g

N(R )
e —

Praet© iy



" QuBUvi). i B=B_ o'] then verity

that
B-Bt is skew samme{"l‘c
SO!' t . +r1e
,)C R-B" is skew Sa'"me-
then we have to Frove

(8-8)= - (6-F)
LH.S = (R-8Y)
R

(L -1)

§ / ’
s PSU

ExerciSE # 1.4

Q#l. Which of fhe 'Fo“ow'ma ProJuc't

of matrices is conformable
for mu|tf(>|icq+|'oh?

A

Sel,  2-byCr  25by-
l{ Cduqms ol 1st éc&'r}x K

ew@\/\ to Rows a,F Ind Hq‘rr'\x

, “they ave Confurmqble -Fo‘r.
. <§\ ' -| [Uz _,] mu\{'lfh'c_qhoﬂ.
M
¢ | 0] I 3

- [...lx c: ] — @ ,ﬁg\é@@/ S “’J@LH 4

@S’N

R-H.S = _(B_Bt) \\QV

(L)

_me.se mq‘h;cef oy € Cemfomque

'FOY mul'{‘_‘;‘)ll‘cq*{a'\ ‘

o a-byf3 Dby

Thece walyices ave co LS

Lo Mu[{:;r ({eatiom.

ble




Q#4, Mth‘Pla the 'Followlnj (&) ["' 2”0 0]

matrices. | 3Lo ©
N1 Ve d
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Q#1. Find the determinant of
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. ors 8 @Syﬁo Now find (DA)
RA =|ug [T, N )
-£ -1k (DA = | _ad of DA
Y T )
' o |DAI

|DAl = J Zl iMJ +§ DA {lo |2\]

-0 Y
Nows '}
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= pL Fyom e;tdi: +D LD
L.HS =R.HS
D = %i‘“'l of D (N = A5 e FM

Pq je 4
-8 pakcity.org 2



ﬁREWEW EXERCISE IH Sol, (48] = B'A”
. L.H.S =(A8)

Qa3 4 7. -3 Y
Qes if [ 4=[7 o). Firct we find AB
'Hren ‘ﬁﬂd Q ﬂnJ b. AB = :2 2, 4
¢ L -'] -31-51]
oy [asz -3 q]
AB = (3)(2)+0)(-3)  (3)(4)+ () (5)
(1)(2) +1) 3 (1) (4) + G (-5)
coqure bo#: S de,;
- - 6"" /2-=10
a+3=-3 > b-t=2 AB—[2+3 L’+5]

b= 2+l

‘ =3! Ag:[o Z}
[——':'J_ -

so,'l' [2' l]+X =[q -2'] NS e
3 -3 -] = \\\O\C\)(* . , ] 6{ AB.;[C‘ "2-]
x’[q ‘z]"[l 960 AR ‘t‘ ) X
-1 =2 > Neaw Pu’c e
yoyr  -2- 48] = (@)(@)-(5)) | values f | A8
Xz["“ ""'“”} | i odj of AB
apl = o-te |4 oo
S mEee]
U1 odiof AB
B Q
<[22 pes ST
..\- 4 -2
a#7 lf A= '3 _ZJ an o (AB) B :T;[..s o]
B"_z; _';] ‘Meh \/cn.fa (AB"-: [:?': %\&
that i | -0 i
(A8) =8 A (AB) = [--?; %—) O

Pa
oé pakcityirgjgp




RJ’LS: B-IA-l

;l'rs;"we find g A A". A = i—k-lqo\j of A
=9 -1 -1 -
4 A = :!'S-[-: ':-l — ®
B — ...L-qdj 0{ B "
|8l Nows «chl % A-‘ Ba usint aguaion
R= [?_ '1] ' B_{L ‘1] -1 .\ y @2@
"l - 4 "1 < 3 5 =4[ 1 [-y -1
3 J 3 BA=—‘-13 2.]-5[—\ 3]
L Y ' -5 -4 —
lBl: -3 "Sl ‘A{J 6&32[3 z] B-‘A-|= \ [-E____:'"i}["‘&’lq
()«5L 3 2L 3
R] = (2)(-5)- (3 Nows  put he o
” _uw)(-t L )-1)+
8] = -1e+!2 e ® I —LY-S))(L‘;“(S-):)()) ((z;)i))(z)tz
- _10 i Y41 +
ad odj of B ol
|8l =2 in abae va:‘\'oa. - ¢ [5+4 lb"n—l
BA = —‘ -6+ &




v

Q#l) Find the valee of “z" and J" by Crammers ule.
Zx"?ﬁ""'(f ) o +24= &

So,/’ 27(-25::“1 \

3% +Zd=6

A= [ * |

A= ()a) - () ‘
A= y4q




v

/e.
# y 4 an am /

é d

r I

" — =

q +2Y = 8” 37( -a

{he Va/”e 0 |

. y 4 a

n

G

=8
4% + 4
Sol,




@#3 Jwo  Sides of a Pﬁfﬂ?ﬁ@ differ %y 35cm. Find fhe dimensions of rect‘méy/e if it /wimet‘er is &7cm.

s 7 Sl i o e Gu SN A GV 35 7 B S 2 B od

hyl=] 52
| AJ = (10)(67)-(2)Gs)
'AJ I: §To-170

w= Al
| Al

———




G.#q 7[6 #)irtl a'nj/e Olc an iSoSce/es fria'nj/e i$ 16. /ess #Jen z%e sum Of e two egﬂa/ my/eS.
Fi'nc{ {hree a-njles 0[ %e t‘ria'nj,@

U T olnn slpin S Ut I Q8 S Elin. P TP R

2N -Hd =80

Uj)’//*/ »u't r-')’//f“"‘/\-/‘f‘

I,
y N
>
— —

e ——

Qi
16 =i

IAx-'- L go\',l

| A, (=0 6)(')-(““)(")

[Ax|= 16 +(8O

(Ax.l=ﬁ€

A [ 1:;]

o

,AZ’ ! lQo
Mq, (2)(1go)- -(2)(16)

‘A]{ 360-~32

[y

O U’U)‘—Muﬁ

= |f_:‘
1A

- 114

\1
=47 Anesr
- (Al
d | Al

-3¢

2

A‘llwo‘b’




G#l(i) Find the value of "% and "a“ Ba Matrix Inversion( Ur'}:nu’f") Method.

Sol,

2’1-25:—.4 ) 3x+1d=6

2% -2a=(4
3% +?_J= &




(Q# 1) Find the value of “x° 4nd ”3“ EJ Matrix [nversion ( U")‘:‘U’f") Method.
‘lx+?—3=8 ) 31—(‘1::—1

'SO'// 4X+2U=8

W\ 74

B
g
.—/I

a (
= Ot
X = B A< Now Pu+ Jhe value of
L\ 2%
72\
x — . \/‘ II.-’L'-.\'\_.:; ;J
—— o~ \ -"“‘*u
<o)~
3 /\i\\ {b)\\;l
Ve /\ \\_/\




(2#35}’_ (325% )

G_#l Use the laws of exponenés o Si'm/o/i {J

[(1ae)"

SO‘//

]

[l




(42

Soly

(17)(3)

4
5=3X3X3K% =g
g5

.
3=3X3X3X3x3 =243
N —Fa

3-3X3=9

"4



Q3. Solve the epations for veal “x”

.50//

and
(3"22')(7‘ *‘Ji) = & (‘X-Z(ji-) +2t -1
7~ NN, V) |
3-—2('.) N +YlL =Z(7(—2 i)+2.‘- - |
( \2‘/3) d

S +3JL — 2L ‘lﬂil = 2% —Hai. +2t — |

A

f v e\

[31 +2j\+ L (33 —ba) = [?_ x -;L\gx—f(; 4 a}
Compare Req angé‘f@i; aginery teyms
e | 7Y
Xas -‘3—""\ -lx+’SD+Ha=L
=10 "2-’1+7~(]-_-.

(r L]

FCN |
37 -2 it = 2% X iyl THE £ ey

— \-L“' ‘Kavqiuuao_g
%'\'73:),3 \Pv,.g ‘. e?ﬁ@

X+YUy=
U 7‘(4—)..\6:—\
Haz 2 | H+2(o) =~
1) -
00| A







u‘(we\r.






QA#1 :- EX/D)LZSS each of Fe fé//owiwj numbers |,

SC ie‘nf/'/ic 'nofafiow:

U“‘“/U"' ) o L S shel [l

NN
(O
I'_ o Y,
A ,-“-,,I\\ \ <;4'
AL N Y

C I
R 72 o A
28 A ) )
NG\ %
® AN~
o~ \ \ “‘\-.._/’
D>
::\ \F_) J\_l
A \

Sely  Li¢. 9 - % gseeo,
¥
.:Llléq )(jo =%.3x|o

%% pakcity.org B




(1) 9.0\ 8x |o"6

Sol,  9.018x15°

-

— .000009 01

= 0.0000090I(%




————————————
———————————————

Q J[ /(7 3.09 =1.4926 find value
%% CJM\.AH’JJ) Z oS A Meg3loi=14926 S &

(iii) /oﬂ 0.003/09 - (Y [%j 0.5101

So}/ ;60(7 ()75,:/0‘1

= |.4a) &




Q# Li (i) Fin a/ ‘fﬁa un kmown {'erm
(P et S [t B




7t = 2 X2 X2LA2 KL



(RA#1 Waite the fo//owmg info  Sum 0 dlifference
U,suuw()-/»»dvﬂ ¢ =8 L r“/"})@"’z” &

(i) >
[7 2 xS L\/) /J (22) (Vl) [J ZS_X‘FI




()
—




Q# 4 F ind The value of te {D//ow,-,ﬁ
S e e Jp3 2o -




7 ,ZOJ he 06990
300 , Weg3e 04771
Q# 5- /}[ ‘/()Jla 0 30 )/55(7 ()f j(‘)//owl‘i?y
%‘e'n jc/'nc/ /’fe valy

<
(V) ﬂ"a 3

Sa} ,&J{- |
:.@Jg-ﬂo(]'.% z-p&
= ?%7‘3.1-}‘2]3
= 'Bﬂo(] 2 .-o(o(j B!

= 3(0.30!0)_ 077/
] = 0:9030 - o0:47y,

;m At




(1)
Sol

/4

0. 8176 X 3.6y
[et

= 0- %176 x A

<

G .\\

3 (IC)‘ v
q k' LN ﬂ o . {:?_\-;\" ~
X > >)
N\ W27




Q#I Use %e [aj tables to j{mc/ value of ﬂ//ow,'mi.
S (e S Jiep e s S T O

(i) 0-678 x9-0l
0-023Y
tS‘ 09/ [6‘f —_ O §78% X q. o/ < <f\ &J o L,/ 6 ,

% \
D)

\

X =anti fog (2. 4167

# Si'de
ﬂy'x ____g,d(o?ﬂy x_‘i.og) /"'f:_“'.

0-02734
/73(: /?(0-679x?-o() -—,&j 0.023¢
%x: ,&Jow’?l 4,&8 7.0/ '570'07—3‘/






(]

Use the [aj tables to find value of following

4Y23¢ J 0-056 Lo ()x.;@@)‘:.@(_m)’t@a)ﬁ

x =(438) Jo-05¢ *’\ fo1x =3 Ja (439 ) + L flog (056) Y foql3ts
Let (38 ) /\\'\\ | J J > ) J )
Takig fog o Lotk gide logx=7.9244 + (- 06259 )- 10.355%

ﬂvx = 79244 — 0.6254 - |0-3552,

pOJX = ?).0568

[7)( = ,&J[(H'sg)ﬁsﬁ;—o—;z] _ﬂaj (388) X = anti Lo (\3.0560
[?)t: 1‘;](93')3-* IOJ — _IOJOQQ)“ { :O.oooﬂ‘l'l‘ts






I'4
I'_ s
Py SN
\ :
fa -'/\"‘\\\ \ <’J

RS
62 S=5X5X5X5
9% 2
& 5 LSNS 3§
S ;;ii:, )



Q#5. If /0(72=0'30’0 , /0(73:.-0. 4771 and  fog5= 06910
fhem 7[/'770/ fhe value of fhe fo//owi'n 7




USQ [ag faé/e {0 fl'hd % va/ue of fo”owiu(j
}[25. 47




Q#é("’") Use faj fable {o find e value of (9.‘17)3,( (3.95)"
_ X15.37

Sl F
o . 3.95
(e'f U — (? ‘77) X i ) & 2.85'3377"1‘1‘?3((7 _0-3953S
3 5. 27 I a')C-:-:.
To\/cua ﬁoa e both 5'"*465/ ()\e\f_/\ faafx_ 2 6560/
’ ’ﬁ\ 6s601)
Mo g5 - JQ‘U (Cern) £ O3 qg) Ll “"{"/&J &
2 [15.374N ]
& Q‘\’ N = L(S'Zal- o
&

'Zﬂ'x - %J[( 2.97)% x '3‘:.()"] — /0(7[ J!5 3"] Answe”.

%i)c.: 4/&;(@,77 '3+ &/@‘75_)1—-%’6



Q#l. / c{e'nfi}g whefker {ﬁe fo//owi'ng afgeﬁ)iaic expﬂessions ake /DO/O‘f”Om/'a/s (Yes v o)
Uil § (ool O Ol a3 2 sie —0

(”) 3;{ L'x @+ 3 UV) 5% + 8
T4 Q_‘X—I
= 3 T-.:‘»‘% o‘ oM\ © ('S LO’((’!M
4-0»'/(/}»3 Notl o Po m}ozn(m.lsx =7 m(?\\C Not =« o \

0
w

o U{L(ﬁO‘L’L Lo (J5E (7 Ol -7

(1) 2 +6x+9 Yeg it i e\
CYDression. x -9 . \
z it YQ'\‘\Q\\c\l e PRSJ‘Ok

SNER)

Q#Q State Wﬁefher each OJ[ 7[. % "3 exﬁa’eSﬂow is  rationaf exphession or mot.

(y 3%  Net o
3\/_7? +5 Yationaf

4 (k2




G 3 Re duce '
23 Reduce e fo//m/? to the lowest  foym. e U"(}“{“f“ - &

(l) A g o
Lo« 3325 it 1
—-—“__'g/’@“)('3 ld' ZL 307{,3d z*
L - (xry)-ly
= 4 4z o) . x-g)




a#i Re duce fhe fo//oaﬂ'?vj to the [owest form. u"‘ﬁ u"c}é‘j’*‘ - {2

2 3_5
T . [ox"Yz
(2+4) - x4 iy —— 9%
— . 30 CLJZ
& -4 )L (o+b) =0+ Pyrab .
R _ (7(4—5)—’4?(5
. . (Q- 7)':::,0 h/}?;-zo‘z.‘) (1n) __._———-———(%‘ )‘_
_[)+(y) +200()] -y o d
- T % v P 3 - -
Y+ () - 2&y) Ngﬁ_qx (i) (- )0 z-xa+az
,. s (%) (24
S mpded) o
L Ll \x > " %
X +a _)')‘& (Vl) X ""L")("f““
= A ePorny 218
nt+ ‘1’7_-_,,€={(j



a# 3 Reduce #e ﬁ//owimj to the lowest form. . wd@“‘ - &

[_(_xi_j:)]('xl- 2X + Uz)

g =

O(_E])('K +Y‘J +(‘J )




(A# 3. Reduce the ﬁ//pmj to the [owest form. ok u’d‘{“ﬁ‘ - &

2 3
ZL— “1x + 4 (D zoza(jzz.
s 0% az
. T
— (’)( )__g“("z)@,_)-g-CQ,A)_ (Ill) (7( "’(j) - (47(5
5 <?t.l-— ’ ) <~<\</ 33\“\ (”‘ -4 )
- (\f&, % i p =
_ ( W > ) Q\?M, 5 ( (iv) (7( )E’X Z'X(j ""(j ))
\L 4\\\’1/ o-b e +b x-9) (X +2Y+ ]
2[0y-a) 7 | o
=(x-2)" oy X2
2 (‘)c—?_)('x-n,) 2%-8






Q 7= 6 P € /1]%/‘1?77 /'W%Cﬂfé'c/ Opé’,m{ ons  and 5/‘7;;///9.

(/)







(R#6. Perfosm indicated opé’mf/am and s‘/'Mf//'/gf I L2 o ¢ 5 (b




@#3. [ mM+n+ P =10 , mn +NP +Mp =27 , Then f/'na/ valye C}[ 7717'.;.70’:,-/91
Sof,




S oﬁ/

Ly
(g~ gzr=)
< o‘@ |



)
~
}
™







Q13 If sx-L_¢ then find #e valie of 125,

5y 125 x>
Sof, (a-b)Z o b®_3abla-b)
(52~ 2"~ G0~ (- 30) (5 - )
)
(6) = /c'éxl‘iac%\\/x?z;’;f%,S -3( ¢ )
216 = ’%§WJ"ZZE%V-IQ

ﬁ

1252
qu = | 250ty g

\

| 2523\ Antwey
1593\




& " ) 87?_ J )
i) X =Y — A +Y ( 2.7y>
<279 2 J

'Slo// (7‘“(7)(7( +9ty+g) - +C~;> m\c
= (- :J)<'>'+“J*zf) (3@@\ 7).
— (‘k-—a§[<’7c +x*3+3 >—~ 1-3
= (”“"J)('X’?%y -t-a"_l]

ji—r\ e

% (-‘?'J“)



Sal
/4
31 > |
& X2
= 3|2x — ?: 3!
3..!_} X3 X 27
=’ \I— > x 2* — -2) L

. 3 F
2 X '3
X 2 -’\K<i~5: N

2l \ Avserer-

K

AL e

X 3 ‘)(5+ 'J‘Sa-)_ 543
£

:7 -
2 *%x;{s
— .'J(JJ’,'ZSZ%







I

7 \/\
3 Jf _
5 3 /G

2[5 - G /T

- z(z) /\5 oy

I "' /5
5 - ;lv?ig;i g&f;é\c
T
-




(3-:-5) (3—\_ 5_) (iv) ( 2 + E’_—_-)( - -’:-i—- ) @?«.-{\B)(.ﬁi -Ll'gﬁ})(vf.-a-a)('zt’“-x-y’-\
A e b (o) 15 ) ey ) %)
= @-& = (al=(b)* ’""

O = x 5 o
= (3 +ﬁ) (B—B) (3 +L Ji )éﬂo ) ((J;r) -(fﬁ')]('x+v)<-x <)

= (3)L—(J§ = _ zé@“ . = (2-9)( =+
‘ N <J§§)\§j ]%) '\La_).(ﬁ“ﬂl)

— q o 3 — \N ' =[ “ . N
B e Ny (9():(:3) ] (%)
oy = (=) (0 g
= |2 o X
3 (’X (\d")"



X - %:2 then ﬁna/ the value of x + _!.(.1.

x — 1 = 2

X

[& /‘"3 S‘pu:/re J—
S/7de s

"“') )"

(<) +( f) 9.(99( )e) =

7(-{-;_2_l’

p =
x +'5’¢':.=‘1+2_

y 4

X +2:"" = 6
Aaaih —}chnﬂ S‘Wumﬂ
onw bol sides

Ca ") a+b" 2ab ('x + L ) — €Y

'Fo?vn\g(q (OH- b) = a +,o +?_qb

(2*) +( )*‘R(ﬂt")()‘) ae

7(4._L
o T =3¢

Y
x+Jd -
xl,‘"?é—).—

prse




Aaaih —,-qkt'na SGuare
OW bo"“t sides
g €+

('x + QL}) = (& )"

'E:Yh- \s(q

y A
(a+ b) = b 24

(x*) +(7,_) +9 (9?‘)(}‘)_. 3¢

7(4-’

y 2 =3¢



W R)TB-R)

+L
%

= (F ﬁ) (,j_‘_'_f% L
(55 +82)(15T3)

_ L) "(W (53 ())

(Y- (R)*







Sol

1 (-13)
x (2+Fb) (2-3)
1-10G-R)
(Y= ()
5 =(-5)
Y -3

X~
1
O

|
)
-

il- and (x - _(.)
N - ':x_'- =?
x- L -.:-.Q_-f-ﬁ)—(fz —13 )
1 ™
(G'i-b)(‘\'b) \gp\')‘t - -)!-( — %“"ﬁ 7/5--1-& ("‘----‘-!.,|L =(7-?3Z)
R N S S [ e )
e
\<;;‘£L&~j - -_;-‘: = IJ-'; -p.lﬁ (7‘- 7") L"" ‘1(3)
\ -1 -
k"% :(l +1)J§ ( x) =t



.
> = (3-2)
S
'a,i""f(ﬁ-‘z) =




a#

/
" Find
d the
ConJ“(ja .
X+ 7
e
22V )
")6,')

(li1)
2
1 .f_
3
— j—Z-
K2 .
2

:0 h .
J ua
a {_
:' —— l
—E
1 /s\\ S
R Q) w NG hJ '
\ \ \‘\/\ - v
aQ{C - 7
| J-Z
”J
U {
a <
— q
—
J_i



Rl

Sol,

Rah’ona/;'ze c{enomi'nafor of fo//owinj-

viv) 3 -

I3 +




> IR _L'}p
. -2 L bl S Py
R fionalize denominator of fo//owmj
Q1. Kational

.3
TS
(Vir) & .







(A#7Ci) If 9=V5+2 fTien find he value of q*+
Soly Y =15 +2

A
p 3




Q#6. If P=2+/5 flen find P~ 7%

‘gb/// Pl—- -’;';-_ P= -2. +Jd3




Qus Find valie of Zvg’ and zy . Nf  xeges . xg=3

Soly 2w =7
. N+ 3:'763-\- >y 3xy (7 )
(7C+ )::-- 7(.34— 3-}- X + ( 2)3 ;j 33 *U
J)=>*y @( J) (5 Porrpea(ul(5 )

(25 :’Z's+'aﬁs+ O

'7.‘5— §0 — 'X-B-t-;f’




Q#Z. Factorize Yy
(1) ‘/7((7 - llly —f—lg’ﬁ’-
iy 37y (x-3)) 72y (x-3y)







(1)



(1)

A _2 4+ 2
b a-
’27(1_.361‘1";7

= 3 (7_1 - 3)(27( -3)






(A4 4. Factovize S So[// 3k 2420

() xC”C-')-J('d-\) e
.. | - ( T 2
(i) 3x-243% 3z( I 917()
fq\“/
Q\‘“\%\C
%’ﬁBxl’ ()"~ (Ax) ]
0







S.f// 25N+ lon 1 — 32"
L —— il aney

N\

pakcity.org




a ¥ 5 Fad’ozﬂze Jy d‘/ SDV 'X,l—- al—- (1')(7, 4 H']:'

|

A

(a-b)
= (@) - 2a)OHe)

(ll) ),5xl+/0'7(+ | -36Z

(i) -y - Yxz +4z°

= ’&35&75 = (}) A=b
< /L\S/&\ 'A :@—b> kQ'kb}



(R#l Factorize 2y Ty
i) a +3a b+ 4b”

(1) X+ 2 +25







Rs)  Factovize w0/ >
() 25 +14x +48

(1) 15 +% —~132




/'"'\

L —
R#l. Factorize (/= Sof, @1—’%@

: 2 Ed /AR
(/) 2 +14x +48 _ L—I/x +/29( _ 22 (x*)E-132)

(1) 5 +x —132







Q#3 Factorrze U’/’/(}/ Soly @ha@

() bLx*-l6x-21

(i) Yx— 172y + QJ"



Q#5 FﬂCfOB'/.Ze U’//L’f/}

() 8'13+ 6012'+1507( +195

iy  8x -1 2563— 60733 +\5zal

(a ""b)?:-.- a +br+2ab
(a+b)=a*+ b*+3ab(ash)

@"3*' b*+3a°b +3ab"
,S':);/ gzs-!-éOxL.p-IfO)( _.‘..,25" —

)\ep\ (q"l’)‘s“ a’- )-'}--'3:11:)(& b)
=
3

5‘3 35\ L,_f_gq b}.

— 87’1 +)25 + 60x" +,§Q




C
#
5
Fa
toyiz
e

LS
G

T

(
)
g
13
+
60
7(_?_
Y il ’5_ox
+
2
5
(a
+b);:
- Ch_
+b*
+
2
ab

(ii)
_12
5
a'B
_ 4o
x?-
gt
| 50
la’-
(e}
)=
= 03
+
b3
+
3
....‘f."..b(a
+b)

(
~T
= a’+
R
+
3ath
+
3
:
b~

(o
‘lo)s“
CB_

13

3"‘5(

b

= (2 x )3

b
- )\"-3
> )G
ﬁj::::::::::ﬁﬁﬁhhhhﬁ\\
(-
)
Qa
ys_xléiii—j
20
o
-




A#6. Factorize (/%
q) A7 + 8x° AT

By seaasy =G

:..'. ?" ) (RN 3
= ‘)(-l-sJ)Ql‘fIz =~ [O*Z ¥ 2631)



| f . , . So/// o 1
Q;?J Fac 03'/21 VALY U x Iéa [a?'—b’:—z(a-b)(“*") /
() Yt 164 2 L —




(R#3. Factorrze ua/ff/-f
(/) 911-165"




"dz , '871521

52 1027y Z =2X3X
857(?72 =
| 87 Xdzz::

,/"‘.\I..'\‘ \ ¢
/ \>
/Jh‘\fﬁ‘:?—/}f\)

‘\/"l

ﬁémm on ‘Fa doY =17 xa L
pin ¢,




G,-#l,(ii) Find the L.CM Of 7[0”"”’"'”5 e"/’"“"‘m' -u.f//r ;‘"J.‘él olarls € (})6 2 ()

lol:rd‘z : 8’51"(72 , 187%(’,21

ﬂxaz

Noh Common ch‘hnr = 2 XQAKSXI| 'za‘z.

LCM (171 z)x(zx’SXSX\I 'x‘az)
WWZ‘"\




Q#Z FITIJ f/’e HCF of H)e fl/owm(j expﬁeﬁlons % facfowéaﬁon
S (’,lnrlul)[&z:’_ ),wd/(}'/‘
+52+6 , 2'-4x_I2

5’0} X'+ 5%x+4 = 2 2 + 3% + (7"1)("")
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